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���������� (quasi-experiment research) +,,-��.� 2 ��012 �
��1��
+�34�
��������� (two group pretest and posttest design) �9:��-��.�;�<��=��+��2������
�>��
�����?������-@1�������@
�<��;A?BA����0���2����2�B����@1����4��?2 ��C,<?�2A�	����012
@
���1�� 50 ��� =�������:��+,,�F9�3�	�3	�@�2�0GB2,
@�����>�4��	��;A?BA����0H��<@�>��I�
�2:��+�3�<@�>��I����9�
� 	
�4�
����-��J��2��K =��H4?;A?BA����0H��<@�>��I��2:�� 	>���� 25 ��� 
������012����� ����>��
�����?������- +�3H4?;A?BA����0H��<@�>��I����9�
� 	>���� 25 ��� ������012
��,�02 ����>��
����@�2��@�����?��������>��
�����?������- 
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 1. ���:���2:����HK?H��������� N�?+�1 =��+��2�������>��
�����?������- �A12:�+�3��O���
�������>��
�����?������-<��;A?BA����0 
 2. ���:���2:����HK?H������,��2<?�2A� N�?+�1 +,,B�,P�2<?�2A�B1��,0���+,,��B�,
������@
�<���,��Q� +,,�
�����
,�A?���2�B����@1����4��?2 +�3+,,,
��������<?��1�2������
�>��
���� 
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����������	���� 
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�
�>���������
,��012�����+�3��012��,�02�1���<?��1�2=��+��2�������>��
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@
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+	��
@P0��3B��Q<�������	
�+�3<����2�1�22:�H������	
� B
2I�.GQ<?�2A�B1��,0��� 
��B�,������@
� ��3�2������
,�A?���2�B����@1����4��?2 4�
�	���

�+	?�H4?��012��,�02�R�,
@�
��	���2�������>��
����@�2��@�H�<G3�����012�����N�?�
,=��+��2�������>��
�����?��
����- �������� 8 B
���4Q B
���4Q�3 3 ��

� ��

��3 1 K
��=2� �2:����, 6 B
���4Q+�3 8 B
���4Q 
;A?��	
��>����������B�,������@
� +�3��3�2������
,�A?���2�B����@1����4��?2 
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 ;A?��	
��>�<?�2A����N�?2���32��;�=��=��+��2��29���@��QB>���C	�A�+�?��>����������34Q
<?�2A�=��HK?BP�@��
���
 1) <?�2A�B1��,0���<����012@
���1�� ������34Q=��HK?+	�+	����2P�� 4��1�          
�?���3 �1��F���� �1��,�����,�2�@�U�� +�3HK?BP�@�N�B+���Q (chi-square) �9:�������,����,���2+@�@1��
<���0GB2,
@��34�1����012�����+�3��012��,�02H��?���9- �3�
,���-��.� �������>��
���� 
=����3	>�@
� B1�����0 �
>�4�
� B1��BA� �
K��2����� �3+���F����������@
�+�3����
,�A?             
���2�B����@1����4��?2�1���������� ������34Q=��HK?BP�@�����B�3 (independent t-test) 2) �����,����,
���2+@�@1��<��������@
� +�3����
,�A?���2�B����@1����4��?2 I��H���012�����+�3��012��,�02
�1��+�34�
�����<?��1�2�������>��
�����?������- 6 B
���4Q +�38 B
���4Q =�����������34Q
���2+������+,,�
�O
>� (Repeated measured ANOVA) +�3 3) �����,����,���2+@�@1��������@
� 
+�3����
,�A?���2�B����@1����4��?2�1��+�34�
��<?��1�2=��+��2�������>��
�����?������- 6 
B
���4Q +�3 8 B
���4Q �34�1����012����� +�3��012��,�02=�����������34Q���2+�������1�2 
(analysis of covariance : ANCOVA) 
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 1. ;A?BA����0��012�����2�������@
� 4�
��<?��1�2�������>��
�����?������-����1��1��
�<?��1�2�������>��
����  
 2. ;A?BA����0��012��,�02���N21N�?�<?��1�2�������>��
�����?������-2�������@
� 4�
�B�
�B0�
������������1��1����������  
 3. ;A?BA����0��012�����2�������@
�4�
��<?��1�2�������>��
�����?������-����1�;A?BA����0
��012��,�02  

�
��#�������������"���������$%��
 

 1. ���2����B�
,B�0��������>��
�����?������-<��;A?BA����0H4?2��<�
� =��	
�@

�
K2�2����-;A?BA����0=���F9�3 ��:���	������
,�A?/������A?<��;A?BA����0	3K?���1�H��
��:�� O�����	����
�0�B���@1����bc���1��@1���:���N�?�9��3@?��bc����2	>��?�� 
 2. ���bc�����-H�;A?BA����0�
�@?�d ���0N21���� 70 �e 	3HK?�����?����1�;A?BA����0���2����0
2����1� 70 �e<�
�N� �
��

�;A?BA����0������02��<�
� 	��@?��H4?�������bc����<�
�+�3�����:��	
�4�3
���������HK?H��������-H4?�42�3B2�
,�
�.G3;A?BA����0�K1� ���420����HK?9:
����+�, d (	
�4�3,����) 
H�;A?BA����0���2��
>�4�
�@
�2�� 4�:�;A?BA����0������;1���3�A���/4�
� 	3420�N�?�����1����420����HK?
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������?�� H�	
�4�3���OQ 4�:�;A?BA����0���2�=��4�,4:� bc�H�	
�4�3,����, ���OQ 	3�A?B��B,��N21
�4�:�����C� �42:��H�	
�4�3 K�K�K1� 
 3. ���B�
,B�0�,0���H����,��
� �K1� B�2�-I���� ,��� 2����-,0@��1�2�R�,
@�
��	���2����-�9:��,>�,
� hij�hA  ;A?BA����0H����,��
����2�I��39�1��������@
�N�?��1��                          
2���3B��J�I�9<�
� 	�����N�?H��?K�� 2����2;A�9
� ���2�<?�H	�1�H4?����B
29
�JI�9�����H�
���,��
� 	3�>�H4?B0<I�9���+�3B0<I�9	�@��<�
�N�9�?�2 d �
� 
 4. H���G�bc�������012 N21���HK?��012H4l1����N� (N21���� 5 �A1: ;A?�A+� 2 ��) ��:���	��;A?���
,�9�1��������@
� @?���A+�H��?K��H�bc��1�,���1��K1� �1�420� ����P��4�
� +�3���+������
��012�1�� @�2�3�
,����
,�A?���+@�@1�� �K1� ��012���B�2��P�>�N�?�?��@���� PA�@?�� ��	
�4�3             
��012���2����2B�2��P������� @?���A;A?bc�B��,����

� +�3��012���@?���A+,,��1��	��;A?bc�B��
@������� �

��A�+,, ������ ����
,	
�4�3 �9:��H4?���bc�����N���1��@1���:���N214�0�K3�
�              
�2:����012���2
��H	����N�?�?��@���� @�2�A�+,,����-+�?� 	���1��B�
,�A1�
�,?�� �9:��H4?���bc�
B�0�B��� 2�,������-��012K1���4�:��
�+�3�
� 
 5. <G3bc� ���HK?-
9�Q�������-��,�A1�
,�>�9A����B:�����242���1�� d @�2BI�9+���?�2 
H�<G3�

� �K1� �1�������Q�H4?,���1�4
�@
�N�����?����m��� ����@?� �9��3����
,�A?+�3�<?�H	N�?
��C�-K?�@1���
� H�;A?���2��3�
,���-��.�@1���
� �9:��H4?���B:���

�������3B��J�I�92�����B0� 
 6. �����?��3�341��H����HK?+,,��B�,���2B�2��PH�������@
�<���,��Q�H4?
2����1� 2 B
���4Q �9��3��012@
���1����	�������2�0?���� 	�	>��1���B�,N�?+�3bc�4
��1�
=���F9�3 �>�H4?;������B�,��	����	�����bc��1���B�,=��N21HK1	���������>��
����N�? 

�
��#����������	����������&�'(�$% 

 1. ���2������	
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>� =�����+,,�����	
�H421H�,���?���K1� �����:����012@
���1��+,,	
,�A1
���HK?���:���2:���B�,������@
�<���,��Q�H��3�3�������41���
�2����1� 2 B
���4Q 
 2. -��.���	
�����-����42�3B2�F9�3=�� �K1� ����-�
,=�����4�
� ����-�
,=�������-��.3 
����-�
,������
>�4�
�H�=�����2�
�=�4�@BA� �,�4��� ����-�
,=��4
�H	�3�3hij�hA 4�:�
����-H�;A?BA����0���2�+��=�?2����=��O�2�-�?� 
 3. -��.������,����,�������>��
�����?������-�
,�������>��
����K����:�� �K1� N���C� 
�9:����B�,B2��PI�9�1�����4�:������,�02=��@1��d 
  

 

 


